XHAB | XHESR XHE-RE X &5 (M)
486H = ZERATNEHRR 3,000
486H = hRETARHRR 3,000
4813H = HILE#H4EFHISEES 3,000
4813H = INIBRHEZFHIARER 3,000
4813H = BFHLEFHIARRES 3,000
4813H = BEEMARILES 3,000
4813H = ZNEH I EFEBT SRR 3,000
4814H = BE=ZRHEEEESR 3,000
4817H = BERRILTREEEESR 3,000
481780 = ZITETE Z/KERERE 5,000
48198 = ZITMR R BLEMRESHERE 3,000
4820H BRE |TEOBEIE RIEHS 3,000
4820H = EHIEE Z 2 EE—EER= 5,000
4821H FRE |(IEREESEERH 5,000
4238 = ZEIRENRIESEMAEBAR 10,000
4824H = ZITETEROBRRE 6,000
48258 = FTHIMERBRBIRS 5,000
48258 = ZTH B I 2T ENER 5,000
48 25H = EHEARE S #EDR 5,000
4826H = VI R—IILIBERE 5,000
4829H = MMt EFHIATER 3,000
48 30H E= FEREEEXHRIEEERS 5,000
48 30H = BT ERITHERR 3,000
48308 = EEXETOEHRE 5,000
4R 575t 100,000




XHAB | XHESR XHE-RE X &5 (M)
5H5H = EERRIILIOKRE 3,000
5878 = REZEmaESRE 5,000
5A7H = AERYIRESEE 5,000
598 = TEEREEESRZESFHEIR 5,000
58108 = BB AREEEEIUSRR 3,000
58158 = IETEERBEERS 5,000
58168 = KPS A HRRBEERS 5,000
58208 = ZTREREBHRE 5,000
58238 = ZITHE ISR 5,000
5H29H = ZTHERIEHERE 5,000
58308 = BEEBHh=HRE 3,000
58308 = ZITEIHMET AT E HESRE 5,000

5H5%Et 54,000




XHAB | XHESR XHE-RE X &5 (M)
6H1H = FEOLRCHRDOEHRE 3,000
6H1H = HEGFEHRE 3,000
6H28 FRE |HBEXESFETRIR 9,720
6838 RREE |AEREEGEESH 5,000
6868 = RESENXH-HAERRHBEEARIBHAS 3,000
6878 = AEEE M EREWILLEHER 3,000
68108 wEE |FKEZLEEERESHES 5,000
68118 = HIE-ZERE - ERER 5,000
6H13H = R NAHREEERRERRRS 5,000
68208 = EEREESNHE 10,000
68208 = BRIV TSRS 5,000
68228 = EFE A E3EEE S E R R 5,000
68248 = KTHTEHREHEEEBHS 5,000
68268 = B EHERT-ERIBREEZTIR 5,000
68268 = ZYHAERESERERAR 3,000
6H28H = ElEEFEXBRE 3,000
6H28H = FEALWVEIGERIRE 2,000
68298 = KAFY)T7ERI)R IS B H—k 3,000
64308 = TRCHBYUARFEE DR - RRE 2,000

6 A 7Et 84,720




*XHABR | XHER XHE-RE X &5 (M)
7R4H = EIRE50FFREIIESY 5,000
7H4H T | RIETHEERAEREREAR 14,688
7H6H BHE | KEEXEAESRME-JASHEINSREZERALES 10,000
7H9H = MEBELOERRBR= 1,000
7H15H = FEMEZEREZEEAS 5,000
7H17H wEE [ERHEXERZBEIEShEASHES 5,000
7H24H = ZTHREZERERORBERS 5,000
7H26H = RBJL—F B aEMREE 5,000
7H27H = WA RRER 3,000
7H28H = Sl Y0 3,000
7A28H FHE |TEBEERER 9,720
7H29H BRE |TEIBEHEFTA 5,000
7H29H = ZITMEIZEEERS 5,000

7R Et 76,408




XHAB | XHESR XHE-RE X &5 (M)
8H1H = ZETIRE N2 B B R 1,000
8H3H = HIA-PET7VATARTRREZSALLE] 3,000
8H3H = S -F)—DJDEMIERY 3,000
8H3H BENE |EBEFAKRIVEHREXREREIZENESR 7,000
8H4H DM (O TAORILERH 2,000
8H4H TN |[EIDv—FILILER 10,800
8H6H DM BB (BIREAEFAEM) 181,010
8H9H = a9— ERY 3,000
8H9H = KT EEREREBHE 5,000
8H15H = EBHRETAZSREY AR 3,000
8H15H = WRESDIEEFERFYKE 3,000
8H23H = [ = 7,000

8 A&t 228,810




*HAR | XHES XHE-AR X &5 (M)
9878 = MERTREIILOKE 3,000
9810H WEE |REFHMONIL—HES 10,000
98 14H = RN EFRER 3,000

9 n&t 16,000




*HAR | XHES XHE-ARAE X &FE(M)
1081H = EEMAFRRESR 3,000
10A1H EBHE |LlUmeoEEiiSH 10,000
10A21H = BRFLIYHIVNERRBRE 6,000
108 24H = ITHEENERTXMIIRBEHETRES 5,000
108 7&t 24,000




XHAB | XHESR XHE-RE X &5 (M)
118128 T |ETRFEAELE (KEBEREF) 14,040
11A16H = ZTHRERGFEFESR 3,000
118228 = MRV I R—IL KSR ERFTEBEES 5,000
118238 = BFHAUMFHRER 3,000
11A27H = ZITHXIERRER 5,000
11 B 55t 30,040




XHAB | XHESR XHE-RE X &5 (M)
1281H BRE |HIIMABUET60EFERE M 10,000
12818 = " MERE 3,000
1285H RREE |AHREEXZFEESH 9,000
12A7H BHE |REEERENERYFFREEREIZENESLE 7,000
12A7H = FEGHRAANEERBRE 5,000
12811H = [CHBYEXPO 2014 REE 4,000
12A17H = ZITHEROBR 6,000
12A23H = ZWERV) AT RAFx ) T4—a Y —h 3,000
128 24H BHE |HBEEXFEERIR 9,720
12826H FEHE |tEIESEEEETH 9,000
128288 = REFat T BRI ERENRESR 3,000

128 7&t 60,720




XHAB | XHESR XHE-RE X &5 (M)
1A18 = BFHAETERER 3,000
1818 = N/ ESRTNESHER 3,000
1A18 = bt NEHFR 3,000
1A18 = REMNASTFER 3,000
1A18 = HETETNEHFR 3,000
1A18 = AR/ BETASHES 3,000
1A18 = THHEHNEHES 3,000
1A18 = ANTEHERASHFER 3,000
1A3H = W ZENEHES 3,000
1848 = HIEEA =2 EHES 3,000
1A78 = FIRMBRIRE 2,000
18128 = fa BRI ERFERAEH 3,000
1A168 = DILN—AME A—REHESR 5,000
1A168 = XA EHRENES 5,000
1A178 = EHIFAFE 1 EMEEHE 5,000
18188 = ZXTHESREXESHETER 5,000
18218 = ENSAAVRISTHES 5,000
18228 = EAXEINEREESEBHRR 5,000
18238 T |[IEARBEEFHE., RARETHRE L E 6,480
18248 = HIFEE 2 0 S FER 5,000
18288 = ZTHEBIREENFR 5,000
18308 E= EXEZLOERXRBRESBHRE 5,000
1A30H = B EB SV ER 3,000

1855t 89,480




XHAB | XHESR XHE-RE X &5 (M)
2A18 = ZIRETEF RS 40 AR HHES 5,000
2H28 DM |EMKESEELE 7,776
2A3H = ZFEIRBLEEXMNKRIGEIBHRE 5,000
2HA5H mEE |[HEeVVEFZELIEHRHES 20,000
2A8H E=S NPOEZATEDHE T EHES 9,000
2H10H = ZFTHREENESERTES 5,000
28128 = RIBTERFTXIE7TORELLSMES 5,000
2H138 = BrRIAGHEABEGASERS 5,000
2H13H = SMMLAEREHER 5,000
28148 = ZWMANVFNEREHFER 3,000
2H158 = JEBA N HAEREhE S B =X 3,000
2A16H BHE |nEEEEEETH 10,000
28198 = FHBSAFTIEHEEERS 5,000
28218 = ZTHERBLEEHE RIS 5,000
28228 = SAMNEHRE 3,000
2R228 = TE LRKETRAEHES 3,000
28228 = BEIIRSHRE 3,000
2822H = TRHIEFHNEHRE 3,000
2R228 = LA KBTS 3,000
28228 = hET N =M= 3,000
2H228 E= BT N 3,000
2822H = LBET AR A= 3,000
28238 = ZIFETZEANISTEEGESREHES 5,000
2H24H = fR BB BIERE 255l 1,000
28288 = ERBEHFEODUYURARAMILAITINERRAAER - BES 3,000
2H288 E= ZITHRX R BL LB FEGE 3,000

2Rt 124,776




XHAB | XHESR XHE-RE X &5 (M)
3A1H = MEDETRNEHRS 3,000
3A1H = JLRETASHRE 3,000
3A5H = ZETRBREHBDOE 3,000
3A7H = (PP EHETARHRE 3,000
3878 = EEREBLXEHDERE 3,000
3A7H = FEBRBLZEHBDRHRR 3,000
3A8H = TATEHNEHRE 3,000
3H8H = HIEHETNEHRE 3,000
3A8H = N IR E e 3,000
3A8H = EIFEE AN A FBHRR 3,000
38138 = ﬂﬁﬂﬂs*cLiféﬂa)A 3,000
38148 = SERETAR-EEHEARIKE 3,000
38148 = %#ﬁiﬁtxﬁtéfﬁ FHFRHRE 3,000
3A15H = i&mmm%.::% 3,000
38158 = WEELEAR-EEHEHRR 3,000
3A15H = i)i‘FﬂiTW%.::% 3,000
38158 = EHRETAR E—i%%ﬂ L= 3,000
38158 = THRAENR-2EHEHKS 3,000
3A15H = J:E‘ZEEIHTW%.{J% 3,000
3H18H = BFILme+ AR LR 3,000
38198 = HAIFFHIORFRSHA - BHER 5,000
3A21H = JLETEAT N 3,000
3H22H E= WETHAR-2EHGHKR 3,000
3H25H = FTHMERBEREBHS 5,000
38268 = SHIERER = 7,000
3H28H E= IAEEEHEHRE 3,000
3H29H = ZIFTZEANISTEESEESKRS 3,000
38298 = FREITNEHRE 3,000

3AMEt 92,000




